9HIHFMEILT_COVID-19EZ B

b ST SRR 2022/09/09
ot | R | Blamse [T OV g R ®2A | %A
1| & |oozmblr | wazmERs = 8/31 T FEK - IR 831 | 92
2 | = | 0mmur | wRasER = FED 3 | 95
3| %« | sozmLLr 1B = 8/29 BEOE - B TN 829 | 9o/
4| = |osmmur s = FaD 830 | 91
s | = | sozmLLr DA = BaP 830 | 93
6 | % | 90smbLE s 2| 8/31 2B#S 831 | 94
7| & |oozmur | meEpe = 8/24 m - B 25EA 824 | 95
8 | % |o0mmur| dnEmEms 38 8/30 mamn 831 | 92
9 | = |oozmLLL 1B = BaP 96 | 96
10| % | 90z@blE hES = FaD 92 | oa
11| 5 | o0s@blt A = 8/31 %% - FRAR 91 | 9
12| % |ozEuL | bnEERs = FaD a1 | 95
13| % | 9om@EuL A 38 6/29 S5 W B 6/29 | /4
14| B | w0zEME RS = FaD 831 | 94
15 | % | 9om@muL A 38 8/26 0%  IWREE - RREE 826 | 9/6
16| % |0zEuML | bnEERs i SEE SR8 8/25 | 8/25
17 | B | o0smblE s 38 9/2 SE B SRR o3 | 94
18 | % | 90zEbLE B BRS 18 FaD 823 | 93
19| 5 | sozm e = 9/2 BRKE  ERED 92 | o
20| = | soz# s 38 8/31 PR - R 831 | 95
21| = | sozm i 18 9/4 IEIR o4 | 94
22 ko4 80% 5% Epna=3 = B 8/26 8/28
23| % | sozm e = 8/31 G5 8= 831 | 94
24| & | sozm BHERS = BED 92 | oa
5| % | sozm e 2 9/4 IEREE - XK R BRI  MB(E o4 | o
% | % | sozm R 38 FaD 816 | 96
27 | = | sozm MBS 38 FED o4 | 94
8| 5 | sozm BERS AR FEP os | 96
29| = | sozm MBS 38 8/26 TR 826 | 8/28
30 | % | sozm BB RS 38 8/30 B0t - 830 | 92
31| 5 | sozm RS = 8/31 IEIR 831 | 95




9HIHFMEILT_COVID-19EZ B

iy
&
B
)
Ko

B EE S0 2022/09/09

B | R e Blamse [T OV g R ®pH | BB
2| = | sozm DNEERS = ma 820 | 831
33| = | sozm | waEamERs = B 829 | 96
3| = | sozm mrs 28 ma 775 | 823
35 8055 BHBES 37 9/4 2EHE a5 | 96
36 &8 70% 7% JEESE 37| HEH 9/3 9/5
37| = | 702m s = 8/31 R 831 | 92
38| & | 70%m B = 9/3 B 93 | o
39| % | 703m PN 37 Ba 823 | 96
40 &8 70% 7% FEAE 28| 8/31 IR PRI 26 - 2305 8/31 9/4
al|l 5 | 703m B S = Ba 824 | 95
42 70%5% EBUBRE 28| 8/22 EHER 8/22 8/28
B 8 | 028 BH RS " B 92 | 9
| 8 | 7038 ars 17 9/2 IERL 92 | 95
a5 | 4 | e0zm o = B 816 | 9/4
6| 8 | cozm s = Ba® 8/26 | 9/4
7| B | e0zm | wExmERs 3 8/24 %15 BRRR 826 | 9/3
8| B | e0zm i = 8/31 =8 - 25 o1 | 9
a9 | % | eozm SR 17 8/15 1RHER 8/15 | 9/3
50 & 60% 5% JEE 27| HEH 8/20 9/3
51| % | e0zm BRES = ma 830 | 91
52| = | sozm DEERES 3 9/3 IR bR 93 | 95
53| = | sozm A 28 6/15 IR  TERE - RN 6/15 | 8/18
54| = | sozm o = 9/3 IRE 3 | 93
55 |« | ®#lom mRRES = ma 517 | 813




